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4.1 to 4.3 Exam Review

NO CALCULATORS
:)vescribe the transformation from y=2"
1. y=243 2. y=-2"-3 3. y=2241
wo 3 %WX-M’SJ’ szwf,
Write into the “other” form. A 3 o/
4. 2“3=—;- 4%572 //J/:' J 5. ]og261—4=—6 Z 3 /04

Simplify each log.
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_pX 2_g3X
ﬂjf 1:4" 1%l
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Solve

11. !ea.g4x=3 _ﬂ 12. log z;9=x L/ 13. logz,x-:—; //éf)/
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17. log,9*
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CALCULATORS
Graph the equation. Describe the transformation. State the Domain, Range and Asymptote.
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22) y=%; and y=log, x on the same axes. ['
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Solve. P A1=Y = 4

23. $1000 is invested as 12% interest and compounde;i guarterly. Determine how much the
investment is worth after 10 years. t=/0
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(L 24. Find the amount after 3 years and 3 months if $1000 is invested at an interest rate of 1.2% per

year, compounded continuously. 534‘&‘4 3 3maddd = 3 ;/,_, W = 3.4¢ f‘“"’
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